
Ir#mifiiiil. SERIAL NUMBER PREFIX -01
TD 2500- TD 2600

●

16S
1 216027 12 21 229121 4
2 .227024 1 22 215674 1
3 227023 23 120045 1

; 244 213104 68497 1
5 216591 2 25 ● 224351 1
6 223895 1 26 222247 2
7 ● 2237!30 1 27 224266 1
8.e — 1 28 224350 1
9 s. 219016 1 224452 1

210 ● * — “1 227036 2
11 ● 227022 2 31 224492 1
12 .215992 1 32 227028

;13 . 227021 1 33 215515
14 229524 2 34 224354 2
15 FIGURE 4 35 216022 2
16 224148 1 36 217679 1
17 120098 2 37 .224111 1
18 224319 1 38 . 224No 1

224318 1 39 ● . 219585 3
; 219508 2 40 . 215674 1
41 . 216590 1 68 .213167 1
42 . 216092 1 69 . 2j8063 1
43.. 216093 1 70 227700 1
44 . 2~67g2 1 71 236381 1
45 . 2j894~ 1 72 236529
46 . 217482 1 73 235804 ;
47 217382 1 74 236529 2
48 223898 1 75 227701 1
49 ● 225057 1 76 217554 1
50 ● 216985 1 77 ● 215536 1
51 . 225058 1 78 ● 223770 2
52 . 224*3 1 79 .—
53

2
217390 1 80 215539

56 216583 1 81 216022 ;
57 215525 1 82 219383 1
58 235801 4 83 219648 1
59 227633 4 84 ● 102556
65 224125 1 85 ● 95266 ;
66=— 1 86 236322 1
67 ● 213186 1 67 222308 1
88 235593 1
89 213178 1
90 224165
91 217320 i
92 225059 1
93 .223925 1
94 224314 1
95 224164

i96 111026
97 223589 1
98 216027 4
99 215541 1

100 223902 1
101 213191 4
102 215545 1
103 102164 1
105 216143 2
106 222960 1
107 216500 2
.



54

4

y
.’ 82

N

~@

-.
42 41

‘7/s3. ‘ 8$’ ‘
. .-.

:.. > ...

%

...!-.. .
-J85

63
e 85

i 86

— 60

84 —e

/

ii12—

16—//19:? \\\\ !a $

.66

75 41 42

Lb ----

w/“’’’’-’’”&

\’]
\\

--23 w=@z@iJ $-2:6

15

—17 22 Q*

‘3- 7—II

%
10– ;

8—A

P

(p
i—::

4—
1+6 21

“.!&4—6 9
_5L%---7 TD 2500

4——45

@—’

Gas&
I-22

e—z
1

1 FIGURE 3
2 227905
3 229833
4 FIGURE 5
5 ● 228882
6 236381 M5xI0
7 235804 !A5x30
8 236529
9 237618

10 .229841

11 .229840
12 . 235606 M5x20
13 . 235248
14 . 236732

15 227068
16 ● 227045
17 ● 227046
18 .228320 M6X45

1
1

1
1
2

3
1
1
1
2
2
2
1
1
1
4

19 . 236’42 4
20 . 236936 4

21 227063 1
22 228152 2
23 236389 M6x1O 2
24 236642 2
25 227280 1
26 .229837 1
27 .229836 1
28 . 229824 1
29 .229823 1
30 .227064 1
31 . 227056 1
32 .227065 1

33 . 229973 1
34 ● 227067 1
35 . . 227073 1

36 ● * 236394 1
37 .236981 1
38 ● 227074 2

39 .229646 4
40 . 235912 2
41 227233 1
42 226109 1
43 228834 1
44 236596 1
45 229842 1
46 216391 1
47 . 216762 2
48 . 236528 2
49 . 236607 2
50 .235248 4

51 ● 236529 4
52 . 21E7w 4
53 228942 1
54 227089 1

55 . 229821 1
56 . 229818 1
57 .227958 1

58 ● 229973 1

59 ● 229823 1
60 .229622 1
61 ● 227’$)74 1
62 .229846 4

63 ● 227082 1

64 ● = 236394 1
65 ● * 227054 1
66..229207 2
67 229850 2
68 235211 M5 x30 1
69 235912 1
70 229832 1
71 229965 1
72 229831 1
73 229964 1
74 229646 2
75 228850 1
76 236323 1
77 235986 1
76 229843 1
79 227826 1

80 ● 236320 1
81 .229836 1
82 ● 229839 1
63 . 236381 M5xlo 4

84 ● 236732 5
85 ● 236529 5
86 ● 235806 M5x20 1
87 ● 229971 1
88 227281 2

16



WALBRO WT 238

0
> ,5

r

iiiiii

o
0

.&.
0

?- ‘1’ :-2

/f@
1!-. ”2

iri ~-I

1

/
v
\, ,,.J+ /

ms
1 237154 M1O
2 ● 237559 2

3 ● 237560 1

4 .237561 1
5 .237562 1
6 .237563 1
0’
Q

c 12/28/0.2 Ps

>1
— 224142 Carb.
1 225830 1
2 225831 1
3 225832 1
4 225833 1

5 225834 1
6 225835 1
7 225836 1

8 229606 1

9 229927 1

9“ (230

10” (255
mm)
I
1 227929 KIT
2 228887 1

mm)

I
1 227930 KIT
2 228886 1

3 240009 1
4227679 1
5 229077 M5x18 4
6 235248 4
7 229524 4
236762

170
1 227078 —
2 ● 235908 1

3 ● 235909 1
4 ● 236689 1

5 ● 235709 1

(j b 229817 1

7 ● 228862 1

8 ● 235903 ~

9 ● 235708 1

10 ● 229631 1
11 ● 235900 1
12 ● 235902 1

13 ● 229844 1
14 _ 235899 1
15 ● 235898 1


	TD 2500
	Figure 1
	Top
	Bottom
	Parts List

	Figure 2
	Top
	Bottom
	Parts List

	Figure 3
	Parts List

	Figure 4
	Parts List

	Figure 5
	Parts List



